= B
3 £ & =S E
S = /D, = S Vu =
Bl . w¥eTs S ~ | S
=) N oS 8, B89 N S m Y9y
3 < E3R ) 2 =2 < w > = — SN S
s £ | Ex3g = R PSS = 2 S = | ]
§ S 2 N S > S¥ S8 = —_ N = o ~ ot
S 3 . 5| £3%« SEL (TSRS > N N
T 8 § = 5| ®gsSy‘t TEZ ey = = &= S
S & 3 B 3} BN ENIERE TR S . = g |3
2 - £ 5 3 S| £ss%8 S |8 s=|= S o T < 8 3
[ S g e} NS N S N g
S & & ¢ % & SN2 S|NSZ|| = s S =
= £ § § § £ ESd[[SSSIRE| = = <8 <
= 5 = & 5 SAY || sEsallZ = S RS N
T & § ¢ g — X 28| S = RS RS
E & & 3 5 s R I R Qz = 53 5, ™N
§ fec oS|I gl &3 | S
- SE38|E N :
g ST SN 518 5 §|F §|¢
< amopyalosd oimg 240jsamu| alodjsemu) oMzoy :lmpojs 0zboig :myunsks oMzoy 8 PW. & =& s|ls
<@
S 00°0/p+0 ‘wy ‘DlupMoonido daluoy x sIopz | 26657 | 020 00°0L7+0
9%z | 940 919740
AN PLYS7+0
08%s7 | sz PILpPH0
76%657 | 040 05740
107z | 0% SE'957+0
_ 08652 | 610 560740
0857 | 610 SrLIrto
857 | 710 7552740
Bl |5
<Ix (5
Sls |2
oL
£6%57 | 100 161740
s6%s7 | 20'0- 1604740
w7 | z40- 79907 +0 S
(=Y
S
4
7857 | 607 88°07+0 S
\ £1%57 | 940 5ok 0|59 L6810
1857 | 900 62°565+0
/ 9%z | 600 6778540
> AT, B loes+0
S
sz | 900 L2715+
- 100 6789540
£ - 61657 -
2 61657 : or | S 6579570
S BT | gy | R 5P\ 60340
- 8557 | 100 | < 1889540
N
© ZVI9EH0 W M suDHoZAZINS 1257 100 - 59095 +0
J
N S
06 8¢¢ 24P 4 957 | 10% = e 6¢'/5540
o/ | s00 IR 16665 +()
oy | PL6ST | 207 &% £E96EH)
S 1657 | 265 | 500 N IS £)°15840
L}
o 5%
1657 | 900 8 96995 +0
J2'657 | 90 a 8'1pE+0
sz | 00 | E 8911540
» — »
aesz | g00 | 7595640
S wo | ") L 9565840
6/'57 | 100 CEEEH0
08'7 | 400 9705540
9%z | 500 2072540
g
3
§lse
_ — X3 |5 .
19567 | 00 | SIS 0194540
nmln
B
S
; ; - S
857 | 00 11905 +0 S
95'5pg+0 =
o S
76'%57 | 99657 | 600 0§'967+0
S Lo
S 06%s7 | s0'0 / 756740
IS
. _ I .
© 657 | 900 S 95'98740
S &
: : £ :
96'%s7 | L0 T 18'587+0
W )
LN
S 66'%6s7 | 800 016240
0z | 800 pL5L040
gs
oS
SIS &
Xl d :
gz | g0 | [T 62292+0
0 - i f,
S gz | o0 9656740
=
4
+
S
= S -
= S 92’z | 600 1879740
= szorz | 600 - S8797+0
S © . p [ .
S gz | o 3 e 67077+0
+ n
S D S5
- 3 ES
S &« sz | o1 sl 24TETH0
£ o 607 T e
=< / 9eopz | 900 2 715740
L ¢, S
= \ 0 o | a0 sl St 1906740
W 21
S . _ ® |0 »
o * yworz | 900 o= 2677+
= = \ srorz | 900 =1/ §/572+0
,m S oz | 900 07'c72+0
=
s
.07 | 500 00947+0
| : N N S
0572 | 140 $§700+0 S
\ s . S
_ is g [ -~
‘ ¢ 0 ~ ‘
907 £ g 67°10240
_ aX N (e
_ 0507z | 710 [£°96)+0
| 90z 1o 07'68)40
55z | 600 /58140
W I
S . D IS A
Sz | 900 /w €9/140
<
1]
o
19°072 0% J1LI40
e
650rz | 100 | 2\& 949940
A
F
85097 100- [ 679/40
~
n
g5z | 200- | = £6°951 40
ssorz | 10%0- 899140
] 1S
w S 8565140
‘ ‘ <, N
ki ) -
« | 75077 0% o 1186140
57 | 200- | ££92)40
S
3
]
5072 £0%0- 18°5L140
29007 | #00- 6074440
>
S
S
S
~+
S
29007 | 40% 19%860+0
s
S
'z | 20% ﬂ 568040
9z | 900 /6040
Sl
1
08657 oup “zy 9907 | 1070 #6790+0
21'590+0 “wy M Q08 Jsndaziy 16%p0+0
999z | 900 12'190+0
6907 | 80% L67E0+0|5/ 75040
p
9077 | £10 L6750+0\z/7p040
W
3875040
§ ol‘n D
B0 oo | 88| 2 1855040
1}
=
[ ] g
S
MMA 8
A0 10197 010 0 7152040
(S o
&
o)
‘ L
070 | 3 20710+0
S\ gz | L 5714040
414 ; y :
TWE S e | e 7704040
< ) w/a
N AIA
S : e Y AN .
051z | 610 [C/ff 98'900+0
88'4r7 £0°0 o 20°00+0
98177 | 9g* 0p | A4 00'200+0
= \ we | sge | LD X_, Q0040
s 00'000+0 WY A p6/ Mq op aluezobyy g A wo | Y 00000+0
3 .W/ = - ..Vl/ [S] e~ S ~N
S 3| E || 8|2 |E|E
g| 2 | &2 | R | & | =S8 || &
| S o o <= N s S
S| & S ® -2 o < =<
N - T3 R m
| & & S =
Q< o =
5 S S
8 =
8
S
o
£
S
N
<




